BID OPENING DATE: BID OPENING LOCATION:

TABULATION BY:

LJA JOB NO.

TABULATION DATE:

CONSTRUCTION OF THE TRAFFIC SIGNAL FOR FM 1314 AT ARTAVIA PARKWAY MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

AUGUST 28, 2024 LJA ENGINEERING, INC.

L. MARTINEZ AUGUST 28, 2024 1968-10052 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) DECO CONTRACTORS, INC. \$231,481.70 \*

2) TRAFFIC SYSTEMS CONSTRUCTION, INC. \$282,639.75

3) STATEWIDE TRAFFIC SIGNAL COMPANY \$292,541.90

CALENDAR DAYS 180/200

I, Christopher J. LeBlanc, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE TRAFFIC SIGNAL FOR FM 1314 AT ARTAVIA PARKWAY MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS AUGUST 28, 2024 LJA ENGINEERRING, INC.

LJA ENGINEERING
L. MARTINEZ
AUGUST 28, 2024
1968-10052 (9.2)

LOAGO NO.	1) DECO CONTRACTORS, INC.			2) TRAFFIC SYSTEMS CONSTRUCTION, INC. 3) STATEWIDE TRAFFIC SIGNAL COMPAN				
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ARTAVIA PKWY. AT FM 1314 TRAFFIC SIGNAL & ROADWAY ITEMS								
1 DRILL SHAFT (TRF SIG POLE) (36 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	44	\$335.00	\$14,740.00	\$350.00	\$15,400.00	\$500.00	\$22,000.00
2 DRILL SHAFT (TRF SIG POLE) (48 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	22	\$420.00	\$9,240.00	\$620.00	\$13,640.00	\$700.00	\$15,400.00
3 CONDT PVC (SCHD 80) (2"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	220	\$15.00	\$3,300.00	\$15.00	\$3,300.00	\$25.00	\$5,500.00
4 CONDT PVC (SCHD 80) (2") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	90	\$22.00	\$1,980.00	\$40.00	\$3,600.00	\$25.00	\$2,250.00
5 CONDT PVC (SCHD 80) (3"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	45	\$25.00	\$1,125.00	\$60.00	\$2,700.00	\$35.00	\$1,575.00
6 CONDT PVC (SCHD 80) (3") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	125	\$29.00	\$3,625.00	\$50.00	\$6,250.00	\$35.00	\$4,375.00
7 ELEC CONDR (NO. 8) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	500	\$1.80	\$900.00	\$3.00	\$1,500.00	\$2.00	\$1,000.00
8 ELEC CONDR (NO. 4) INSULATED, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	55	\$3.25	\$178.75	\$12.00	\$660.00	\$6.00	\$330.00
9 TRAY CABLE (4 CONDR) (12 AWG), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	380	\$2.65	\$1,007.00	\$4.00	\$1,520.00	\$4.00	\$1,520.00
10 GROUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$1,350.00	\$5,400.00	\$1,200.00	\$4,800.00	\$3,500.00	\$14,000.00
11 ELC SRV TY D 120/240 060(NS)SS(E)SP(O), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$6,850.00	\$6,850.00	\$9,000.00	\$9,000.00	\$6,400.00	\$6,400.00
12 PAVEMENT SEALER 6°, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1120	\$0.01	\$11.20	\$1.00	\$1,120.00	\$0.02	\$22.40
13 PAVEMENT SEALER 8", IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	140	\$0.01	\$1.40	\$1.00	\$140.00	\$0.02	\$2.80
14 PAVEMENT SEALER 24", IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	115	\$0.01	\$1.15	\$1.00	\$115.00	\$0.02	\$2.30
15 PAVEMENT SEALER (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$6.00	\$18.00	\$200.00	\$600.00	\$6.00	\$18.00
16 PAVEMENT SEALER (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$6.00	\$18.00	\$200.00	\$600.00	\$6.00	\$18.00
17 REFL PAV MRKR TY I-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$12.00	\$72.00	\$40.00	\$240.00	\$11.00	\$66.00
18 REFL PAV MRKR TY II-A-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	34	\$12.00	\$408.00	\$60.00	\$2,040.00	\$11.00	\$374.00
19 ELIM EXT PAV MRK & MRKS (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1000	\$0.60	\$600.00	\$1.00	\$1,000.00	\$0.60	\$600.00
20 ELIM EXT PAV MRK & MRKS (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	160	\$0.75	\$120.00	\$1.25	\$200.00	\$0.70	\$112.00
21 ELIM EXT PAV MRK & MRKS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$92.00	\$184.00	\$200.00	\$400.00	\$85.00	\$170.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SPECIFICATIONS, COMPLETE IN PLACE

CONSTRUCTION OF THE TRAFFIC SIGNAL FOR FM 1314 AT ARTAVIA PARKWAY MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS AUGUST 28, 2024 LJA ENGINEERRING, INC. L. MARTINEZ AUGUST 28, 2024

LUA	ob No.			700 10002 (5.2)					
			1) DECO CONTRACTORS, INC.			2) TRAFFIC SYSTEMS CONSTRUCTION, INC. 3) STATEWIDE TRAFFIC SIG			SIGNAL COMPANY
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
22	PAV SURF PREP FOR MRK (4°), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	700	\$0.01	\$7.00	\$1.00	\$700.00	\$0.02	\$14.00
23	PAV SURF PREP FOR MRK (8"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$0.01	\$1.00	\$1.00	\$100.00	\$0.02	\$2.00
24	PAV SURF PREP FOR MRK (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	70	\$0.01	\$0.70	\$1.00	\$70.00	\$0.02	\$1.40
25	PAV SURF PREP FOR MRK (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$6.00	\$6.00	\$100.00	\$100.00	\$6.00	\$6.00
26	PAV SURF PREP FOR MRK (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$6.00	\$6.00	\$100.00	\$100.00	\$6.00	\$6.00
27	INSTALL HWY TRF SIG (SYSTEM), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$8,500.00	\$8,500.00	\$26,000.00	\$26,000.00
28	CNT FULL ACTUATED SOLID STATE W/ NEMA CAB, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$21,000.00	\$21,000.00	\$22,320.00	\$22,320.00	\$20,000.00	\$20,000.00
29	CNT CAB FOUNDATION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
30	ROD 5/8"X10" COPPER-CLAD GROUND (CNT ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$75.00	\$75.00	\$150.00	\$150.00	\$100.00	\$100.00
31	DETECTOR PROCESSOR, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
32	DETECTOR CARD RACK (8 SLOT $\&$ 4 SLOT), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00
33	DETECTOR UNIT (DUAL CHANNEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$500.00	\$500.00	\$500.00	\$500.00
34	18-INCH CABINET BASE EXTENSION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$225.00	\$225.00	\$200.00	\$200.00	\$500.00	\$500.00
35	OVERHEAD SIGN, FM 1314 (54"X18") 6.8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
36	OVERHEAD SIGN, ARTAVIA PKWY (84"X18") 10.5 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$650.00	\$1,300.00	\$650.00	\$1,300.00	\$1,300.00	\$2,600.00
37	MAST ARM DAMPENER, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$540.00	\$2,160.00	\$800.00	\$3,200.00	\$755.00	\$3,020.00
38	4G LTE CELLULAR MODEM W/ ANTENNA & POWER SUPPLY (INSTALL ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$75.00	\$75.00	\$2,500.00	\$2,500.00	\$100.00	\$100.00
39	LED RDWY LUMINAIRE (.25 KW EQ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$500.00	\$1,000.00	\$800.00	\$1,600.00
40	LUMINAIRE ARM (8 FT), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$100.00	\$300.00	\$600.00	\$1,800.00	\$500.00	\$1,500.00
41	VEH SIG SEC (12 IN) LED (GRN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	8	\$380.00	\$3,040.00	\$290.00	\$2,320.00	\$340.00	\$2,720.00
42	VEH SIG SEC (12 IN) LED (GRN ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$320.00	\$320.00	\$290.00	\$290.00	\$340.00	\$340.00

1968-10052 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SPECIFICATIONS, COMPLETE IN PLACE

CONSTRUCTION OF THE TRAFFIC SIGNAL FOR FM 1314 AT ARTAVIA PARKWAY MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS AUGUST 28, 2024 LJA ENGINEERRING, INC. L. MARTINEZ AUGUST 28, 2024

	OB NO.			000 10002 (0.2)					
		1) DECO CONTRACTORS, INC.			2) TRAFFIC SYSTEMS C	ONSTRUCTION, INC.	3) STATEWIDE TRAFFIC SIGNAL COMPANY		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
43	VEH SIG SEC (12 IN) LED (YEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	8	\$311.00	\$2,488.00	\$290.00	\$2,320.00	\$340.00	\$2,720.00
44	VEH SIG SEC (12 IN) LED (YEL ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$312.00	\$312.00	\$290.00	\$290.00	\$340.00	\$340.00
45	VEH SIG SEC (12 IN) LED (RED), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	8	\$310.00	\$2,480.00	\$290.00	\$2,320.00	\$340.00	\$2,720.00
46	VEH SIG SEC (12 IN) LED (RED ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$315.00	\$630.00	\$290.00	\$580.00	\$340.00	\$680.00
47	BACK PLATE W/REF BRDR (4 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$285.00	\$285.00	\$200.00	\$200.00	\$200.00	\$200.00
48	BACK PLATE W/REF BRDR (3 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	8	\$215.00	\$1,720.00	\$220.00	\$1,760.00	\$250.00	\$2,000.00
49	TRF SIG CBL (TY A) (12 AWG) (7 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1155	\$3.30	\$3,811.50	\$3.25	\$3,753.75	\$4.00	\$4,620.00
50	INS TRF SIG PL AM(S)1 ARM (20'), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00	\$9,500.00	\$9,500.00
51	INS TRF SIG PL AM(S)1 ARM (28'), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$10,800.00	\$10,800.00	\$9,500.00	\$9,500.00	\$10,500.00	\$10,500.00
52	INS TRF SIG PL AM(S)1 ARM (40°) LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$16,500.00	\$16,500.00	\$14,859.00	\$14,859.00	\$15,500.00	\$15,500.00
53	INS TRF SIG PL AM(S)1 ARM (55') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$30,500.00	\$30,500.00	\$35,122.00	\$35,122.00	\$29,000.00	\$29,000.00
54	MULTIPOLYMER PAV MRK (W) (6°) (SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	180	\$3.75	\$675.00	\$5.00	\$900.00	\$3.30	\$594.00
55	MULTIPOLYMER PAV MRK (W) (6°) (BRK), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	50	\$3.75	\$187.50	\$6.00	\$300.00	\$3.30	\$165.00
56	MULTIPOLYMER PAV MRK (W) (8") (SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	140	\$5.00	\$700.00	\$8.00	\$1,120.00	\$4.40	\$616.00
57	MULTIPOLYMER PAV MRK (W) (24") (SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	115	\$16.00	\$1,840.00	\$14.00	\$1,610.00	\$20.00	\$2,300.00
58	MULTIPOLYMER PAV MRK (Y) (6") (SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	990	\$3.75	\$3,712.50 *	\$5.00	\$4,950.00	\$3.30	\$3,267.00
59	MULTIPOLYMER PAV MRK (Y) (24") (SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	45	\$16.00	\$720.00	\$20.00	\$900.00	\$15.00	\$675.00
60	MULTIPOLYMER PAV MRK (W) (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$400.00	\$1,200.00	\$600.00	\$1,800.00	\$360.00	\$1,080.00
61	MULTIPOLYMER PAV MRK (W) (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$450.00	\$1,350.00	\$600.00	\$1,800.00	\$390.00	\$1,170.00
62	BBU SYSTEM (EXTERNAL BATT CABINET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$7,600.00	\$7,600.00	\$10,500.00	\$10,500.00	\$7,300.00	\$7,300.00
63	RVDS (PRESENCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$9,000.00	\$27,000.00	\$10,500.00	\$31,500.00	\$11,000.00	\$33,000.00

1968-10052 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE TRAFFIC SIGNAL FOR FM 1314 AT ARTAVIA PARKWAY MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS AUGUST 28, 2024

LJA ENGINEERING, INC.

L. MARTINEZ

AUGUST 28, 2024

				1) DECO CONTRACTORS, INC.		2) TRAFFIC SYSTEMS CONSTRUCTION, INC.		3) STATEWIDE TRAFFIC SIGNAL COMPANY	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	E CABLE, IN ACCORDANCE WITH THE PLANS AND I, COMPLETE IN PLACE	LF	375	\$2.50	\$937.50	\$4.00	\$1,500.00	\$5.00	\$1,875.00
	DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND , COMPLETE IN PLACE	EA	2	\$9,200.00	\$18,400.00	\$10,500.00	\$21,000.00	\$9,000.00	\$18,000.00
	CABLE, IN ACCORDANCE WITH THE PLANS AND , COMPLETE IN PLACE	LF	395	\$2.50	\$987.50	\$4.00	\$1,580.00	\$5.00	\$1,975.00
ARTAVIA PKWY. AT FM	1314 TRAFFIC SIGNAL & ROADWAY ITEMS SUBTOTAL:				\$231,481.70 *		\$282,639.75		\$292,541.90
BIDDING SUMMARY									
SUBTOTAL ARTAVIA PKWY. AT FM 1314 TRAFFIC SIGNAL & ROADWAY ITEMS					\$231,481.70 *		\$282,639.75		\$292,541.90
TOTAL AMOUNT BASE BID					\$231,481.70 *		\$282,639.75		\$292,541.90

1968-10052 (9.2)